Roll No.

Question Booklet No.

(Write Roll Number from left side
exactly as in the Admit Card)

(Identical with OMR
Answer Sheet Number)

PAPER-I

Signature of Invigilator

Question Booklet Series X

Subject Code : 00

GENERAL

Time : 1 Hour

Maximum Marks: 100

10.
11.

12.

Instructions for the Candidates

. Write your Roll Number in the space provided on the top of this page

as well as on the OMR Sheet provided.

At the commencement of the examination, the question booklet will
be given to you. In the first 5 (five) minutes, you are requested to
open the booklet and verify it:

(i) To have access to the Question Booklet, tear off the paper seal
on the edge of this cover page.

(ii) Faulty booklet, if detected, should be got replaced immediately
by a correct booklet from the invigilator within the period of
5 minutes. Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

(iii) Verify whether the Question Booklet No. is identical with

OMR Answer Sheet No.; if not, the full set is to be replaced.

(iv) After this verification is over, the Question Booklet Series and
Question Booklet Number should be entered on the OMR Sheet.

. This paper consists of Fifty (50) multiple-choice type questions. All

the questions are compulsory. Each question carries two marks.

Each Question has four alternative responses marked:

@ © @ . You have to darken the circle as indicated

below on the correct response against each question.

Example: @ ’ @, where © is the correct response.

Your responses to the questions are to be indicated correctly in the
OMR Sheet. If you mark your response at any place other than in
the circle in the OMR Sheet, it will not be evaluated.
Rough work is to be done at the end of this booklet.

If you write your Name, Phone Number or put any mark on any part
of the OMR Sheet, except in the space allotted for the relevant
entries, which may disclose your identity or use abusive language or
employ any other unfair means, such as change of response by
scratching or using white fluid, you will render yourself liable to
disqualification.

. Do not tamper or fold the OMR Sheet in any way. If you do so, your

OMR Sheet will not be evaluated.

You have to return the Original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with you
outside the Examination Hall. You are, however, allowed to carry
question booklet and duplicate copy of OMR Sheet after completion
of examination.

Use only Black Ball point pen.

Use of any calculator, mobile phone, electronic devices/gadgets
etc. is strictly prohibited.
There is no negative marks for incorrect answer.

So.
5.

SR

AT G AT
@2 P EoifFrerw i B @3 OMR #ltas e =i fFes
@ 7Ll (Roll No.) 14 |
AIFR R G-I (Booklet) SARIEF (e (A | 22w
@ (#15) RAEE Aesig-+4fE (Booklet) Y1 T ©i= A6iE e
ST T SN SR S 20 8
(i) 2ZAT-REIT (Booklet) TG S 25a% 5P (Cover Page)
AreE FoAER AT SAATIE L50S 2 |
(i) M FAg-2ReB (Booklet) wHge «wiw e =7, o=t
AT W 2w e BRGa W AT oifaweis eI Al
2lol@-sf& (Booklet) A &ifSFIfofe a1 (e | @3 FER
A7 (P O 2i51a-7|f8! (Booklet) AfeRI#M Tl A 11 |
@iTe Sfelie e oedl 2@ w1
(iii) 2PE-2R& (Booklet) 93k OMR 2IGa7 173 et St [Tl A6
A (I | THCR S ARRE 7150 el afegife Face 2@ |
(iv) B =54 2 2iol@-ifeFT (Booklet) Fifser @k amisig
T (Booklet) 793 OMR “itq foifo@ Face 2(J |
@3 +afore AwH (o) 72 TeauS 24 (Multiple-choice Type
Questions) FRZ | 2feh 2Am Tea a1 S| 2ol 2o W 731
et avsm Tl 5 J© (Circle) e s Ten 7tz ¢
@ ® © D) fefiRe fore wirmE Ais Teaba
IS T FEI FA0S T |

grzza: (A) (B) @ @), @ s e (C) |

ST ST A AT TR @ OMR #ta7 WS 2tz orel
23| OMR ~lta7 78 Joea iz Tex fiee (Fie i o it
2@ Al

271g-|fEBIT (Booklet) (1T SR AF IS (rough work) FACI |
OMR #Itad 78 2t 7S o2y 2 rere i 7 sfsfae wime
PiEore O TL— TN, I T7 G A G5 (i S @
I @I oA Afeere 21 i 2re 7w wi2@l (@I9e SRR
S 29 T SR T (P TR SReTE 4 T TA— 6%
i at M i fie Ten SAftesee ga s @@, Eowe SiHf
Mo Teasia AfSETE Toy W ARREH |

OMR #I@f% (F€ ST FOAT FIE@ Il A SG FAE I | (GTCHCE
S OMR b ETifRie 73

AP TN 20 SR ©IE 2035 (Original) OMR a6 #1317 #Ifam{wes
Tl fCe T@ @R (@IS O @b SFw Fewd AR e T a5
1 TR N | AR S0y #AJ1 Tle 29T #17 2i7ig-2IRB (Booklet)
'€ OMR #Ita3 &ffifol (Duplicate) Fifb e 31t 72w w6 @ @
AR |

WY FICA T ATTS (217 JIQF T |

@FRe oFF FAFCEAGA, (R FF, @yien SeFacad
(Feeizmt/ e Teifv) T2 ool ffa|

T TGAA T (FINS T (FSABF (Negative) T9 (RST T |

23185

[ Please Turn Over ]






X-3 00-1

PAPER I

(GENERAL)

1. Constructivism in classroom is

(A) teacher focused
(B) student focused
(C) activities focused
(D) questions focused

2. is an innovative tool that enables
teachers to take students on immersive virtual journeys
and field trips to various destinations.

(A) Google Classroom

(B) Google Expedition

(C) Google Virtual Tours

(D) MS Classroom Expeditions

3. ____ type of evaluation is used for

monitoring the learning process of students.

(A) Summative
(B) Formative
(C) Diagnostic
(D) Assimilative

4. For most classroom purposes, which among the
following is the best suited for social skills assessment?
(A) Checklist
(B) Rating Scale
(C) Numerical Scale
(D) Rubrics

5. is an instructional strategy and a type
of blended learning, which requires pupils complete
readings at home and work on live problem solving
during class time.

(A) Virtual classroom
(B) Google classroom
(C) Flipped classroom
(D) Hybrid classroom

1. FPREH FTGFHIEEH A SIS FISHF RSN
3ol T @ SAET—

(A) @ g Fwecsfas

(B) @ P BIq-RIQIH s

(C) @ FM FFws a SHFHieh (T
(D) @ F 2

2. 25 @3 TuRE! MW T RwEeE
AR FE DG-RAGE (@ @Pfos Trar i Sipae
TCe W3R g A A e Gei-aa wifsers) s |

(A) @9 SR

(B) @el GColfenia

(C) @1 IR G

(D) @S @3 FPRE GICATTH

3. 2o O3 EUREE &I AR M
i e eifeaes Wae s o)

(A) RS IJETR
(B) 915w91S eI
(C) fefiz=s seriza

(D) FELAT TR

4. FF A R Somesy e vl e
fsferfie @i st oifas azemien e
(A) BFFTH
(B) @M &1
(C) Fewiz& el
(D) #fae

5. fsfeie @b a3t fNomiee e T M
ffers A @TTT & fore Aai1da FA 27 Acs Hwiit
5\ ST 29 T~9)ef T 432 FT HAE 2119 IR
ARG TR TN SO FCF 2

(A) SIFIE FREN
(B) @s(El FPREN
(C) froie e
(D) %2 Frwe
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6. Avideoconferencebetween Susmitain Mumbai,

Radhakanta in London, Barun in Guwabhati, Jayanti in
Singapore, Sudhansu in Tezpur, Purakayastha in
Kolkata and Sunil in Bhubaneswar is what type of
communication?

(A) Mass Communication

(B) Group Communication

(C) Group Mediated Communication

(D) Public Communication

7. ‘International Standard Book Number’ (ISBN)
is a digit unique numeric commercial

machine-readable identification number meant for
publication of books and book like products.

(A) eight
(B) ten
(C) eleven
(D) thirteen

8. APA format is a writing style guide and format
produced by the
(A) American Psychological Association
(B) American Psychiatry Association
(C) American Psychological Assembly
(D) Annual Psychological Assembly

9. A narrative literature review best refers to

(A) gathering, critiquing and summarising
Journal articles and text books on a
particular topic potentially to identify gaps
in the literature.

(B) a paraphrase style of reviewing which
does not require referencing.

(C) an initial impression of the topic which
you will understand more fully as you
conduct your research.

(D) the earliest literature is not narrated with
full details.

X4

6. IFR (A TS, TS (AT ANFE, ST (AT
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(A) S1P1REETS (Mass Communication)

(B) V@i ALt (Group Communication)

(C) weirg S4rFel A9 (Group Mediated
Communication)

(D) &«1ge@tel (Public Communication)
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10. From the following list of methods of teaching
used in institutions of higher learning, identify those
which are learner-centred :

(i) Project Work
(i) Chalk and Talk
(iii) Lecturing with audio-visual

(iv) Computer-aided instruction

(v) Simulation and Role Playing
Choose the correct option.

Codes:

(A) @, (i), (iv)
(B) (@), (iv), (v)
(©) (), (i), (ii1)
(D) (id), (iv), (v)

11. A poll is done to estimate the proportion of
employees of an organization who think that they are
actively engaged in their jobs. The poll is based on a
random sample of 400 employees. What is the
conservative margin of error of this poll?

(A) 0-05
(B) 0-04
(C) 025
(D) 0-10

12. The discrepancies between the estimate and a
population parameter is known as
(A) Formula Error
(B) Sampling Error
(C) Non-sampling Error
(D) Common Method Bias

13. If there is linear trend present in the population,
then which of the following methods is the most
efficient sampling technique?

(A) Cluster Sampling

(B) Systematic Sampling

(C) Stratified Sampling

(D) Simple Random Sampling

14. Who called the study of communication
‘Rhetoric’?
(A) Socrates
(B) Karl Marx
(C) Aristotle
(D) Noam Chomsky

X5 00-1
10. Twirw Ao gage Wakiie B safeq
Sifereia ey @iwel e dficfas
(i) 25 P
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(v) SEel @ gl At
Ao Femfs Fdive T -

a@:
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B) @), (iv), (v)
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(D) 0-10
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15. The most significant approach of evaluation is
(A) continuous and comprehensive evaluation

(B) conducting term-end
examination

objective

(C) maintaining cumulativerecords of students
(D) semester system evaluation

16. Which of the following includes examples of
quantitative variables?
(A) Age, Temperature, Income, Height
(B) Gender, Religion and Ethnic Group

(C) Grade Point Average, Anxiety level,
Reading performance

(D) Both (A) and (C)

(a) All branches are flowers
(b) All flowers are trees

17. Statements

Conclusions : (i) All branches are trees
(i1) All trees are branches
(iii) All flowers are branches
(iv) Some trees are branches
Codes:

(A) Only (i) and (iii) follows
(B) Only (i) and (ii) follows
(C) Only (i) and (iv) follows
(D) Only (i) follows

18. There are many countries in the world which
despite high levels of per capita income and GDP
growth / real income, experience high mortality rate,
undernourishment rate, poor literacy and so on. What
is this state called?

(A) Growth with Development
(B) Development

(C) Growth without Development
(D) Development without Growth

19. Which of the following research method is
based on controlled observation?
(A) Historical Research
(B) Philosophical Research
(C) Descriptive Research
(D) Field Experimentation

X-6

15. ETRIE FABIRCE FLFA! GO 25
(A) RIS (FALHEIR) @R [ES JETRe
(B) tdife= atxa A1 O « #1 Sl simfs
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(b) T FiE T 5Ig
Ch (1) 7T #1213 sig
(ii) T SRR i<
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(iv) g oz zeT =i
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(A) ©Y (i) 93¢ (iii) 2290
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(D) SN (i) 22oll5y
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9% ¢ SRR 2Re @ | 74 9T T O Ol AE

(A) 2 T2 (TTSHAATTD
(B) (CCSH2I(:%

(C) 2l TATT (T2
(D) (SCSHATTS LIMIeH (2N

19. fglie @R swRel smfe Fafge s
(controlled observation)-43 ¢*i% fefe a Fdifre =2

(A) afexf=s sitg@dl (Historical Research)
(B) W< sita@el (Philosophical Research)
©) ?T‘WW 91t (Descriptive Research)
(D) ¢ fefes 51ta2el (Field Experimentation)




20. In communication, language is a
(A) Non-verbal code
(B) Symbolic code
(C) Iconic code
(D) Verbal code

21. Match items of List-I with the items of
List-1l and indicate your answer by selecting the correct
code.

List-1 List-11
(Event) (Month/Year of occurrence)

(a) The ‘Earth Summit’ in (i) September, 2000
Rio de Janeiro, Brazil,
where more than 178
countries adopted
Agenda 21

Millennium Summit at
UN Headquarters in
New York led to the
elaboration of eight
millennium development
goals to reduce extreme
poverty by 2015

(b) (i) June, 2012

(c) United Nations (i11) June, 1992
Conference on Sustainable

Development (Rio + 20) in

Rio de Janeiro, Brazil

where number of states

adopted the outcome

document “The Future we

want”

UN Sustainable
Development Summit
where 2030 Agenda for
Sustainable Development
with 17 SDGs at its core
were adopted

(d) (iv) September,2015

Codes:

@ b (© (@
(A (@ @) (v) (i)
B) Gi) aGi) @ Gv)
©) @) (@ a) (v)
(D) @Gv) G @) @)
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(ST SISl Al 07!
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[EERSIER]
ﬂc?:

@ b @© @
A) @) 3G Gy (Gid)
B) (i) 3di) @G 3Gv)
(©) Gi) @) G @[Gv)
(D) (v) () i) @)
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22. Find the worng number in the series :
2,3,5,7,12,17, 19
(A) 2
B) 5
©) 12
D) 19

23. A, B and Cinvested capitals in the ratio3:5: 9,
the timing of their investments being in the ratio2 : 3 : 1.
In what ratio would their profits be distributed?

(A) 2:5:3
B) 3:2:5
(C) 7:5:3
D) 3:5:2

24. Bivraj walks 20 meters north. Then he turns
right and walks 30 meters. Now, he turns right and
walks 35 meters. Then, he turns left and walks 15
meters and then again he turns left and walks 15 meters.
In which direction and how far is he from the original
position?

(A) 45 m, East
(B) 35 m, East
(C) 45 m, West
(D) 35 m, West

25. In an organisation 40% of the employees are
matriculates, 50% of the remaining employees are
graduates, 50% of the remaining employees are post-
graduates and the remaining 75 are Ph.D holders. How
many employees are graduates?

(A) 300
(B) 75

(C) 150
(D) 225

X-8
22. NS Al we AT e 9 |
2,3,5,7,12,17, 19
(A) 2
(B) 5
©) 12
(D) 19

23. A, B @k C &g ol RfN@e a1 3:5: 9 @®
AT T | (@ A R O @2 R Faew oF
AT @ 2 2 30 1| GIewE $ivE @2 R
e (I SIS S 212

(A) 2:5:3
B) 3:2:5
(C) 7:5:3
(D) 3:5:2

24. fJeare 20 o7 Tews e 260 | wiFeF fofd
T 25 30 FoR | SIF fofd SN (ol @<
35 RGR 2I00E | SRR ol A o @3k 15 FoR
2oEE, o7 fofi o AN REw ¢ ke
15 5= 250 | GTCw0 fof 5118 @i e feee= @)
S wwd TS (AT ol 5 Fob! iea fewem 2

(A) 45 fiom, &
(B) 35 f5iow, &
(C) 45 TS5, “if*emw
(D) 35 fiBIg, i<

25. (N G0 AZIT40% I GFE0 A0 S0,
IR0 50% IR, ARB@E 50% AT ARG A=
T G3R I ST 75 Tl f21a2pG fOa aliel | ©fz T
23, OIR(E 92 TR @I Foo IS0 2

(A) 300
(B) 75

(C) 150
(D) 225




26. P,Q,R, S, T, U, Vand W are sitting around a
circle and are facing the centre.
1. Pis second to right of T who is neighbour of R
and V.
2. S is not the neighbour of P.
3. Vis the neighbour of U.
4. Qis not between S and W. W is not between U
and S.
Who of the following are not neighbours?
(A) Rand V
(B) Uand V
(C) Rand P
(D) Qand W

27. The average age of 30 students in a class is 15
years. If the age of two teachers of the same age is
included, then the new average age becomes 17 years.
What is the age of either of the teacher?

(A) 44 years
(B) 47 years
(C) 94 years
(D) 54 years

28. Adealer paid abike manufacturerRs. 1,35,000 for
a bike. What should be the selling price of the bike, if
after allowing a buyer 10% discount on the selling
price, he made a profit of 8% on his investment?

(A) Rs. 1,60,000
(B) Rs. 1,62,000
(C) Rs. 1,52,500
(D) Rs. 1,50,000

29. What is 20% of 30% of 40% of 50%?
(A) 12%
(B) 24%
(©) 24%
D) 12%

X-9 00-1

26. P,Q,R,S,T,U, VIR W 9 J0ea 5o a07
AR R (FHRYLCS (TS AP |
1. P, T-93 SRS @O Zit 90e @R T,R € V
97 P02 AR |
2. S, P-43 ARG AT (2|
3. V=5 U-93 ARFE |
4. Q,S IR W-GF @A (T2 4R W, U 93 S- 43 I
2|
G RS T AfSr@¥ A 2=77=iE ARFE @3 2
(A) RERV
(B) UGk V
(C) RGP
(D) Q@R W

27. 3 FICT 30 T BIGF 91C I3 267 15 I | IW
B, T A e IR I (RIS 1 T OIRGE R
SIG T Z@ WG 17 T2 | (IR @2 i 20e@d
I T ?

(A) 44 927
(B) 47 924
(C) 94 q=d
(D) 54 <=4

28. GG fUala «Fe Az oI 1,35,000 St
et @lh g &y | 92 RS e o S 2 M
(I R ETH 10% (G Al 2G (e 27 9%
SR8 93 G (@ Biwel R ol Fafee ok 8% site
ST ToATSw e ?

(A) 1,60,000 TizFl
(B) 1,62,000 B
(C) 1,52,500 B=Ft
(D) 1,50,000 Bt

29, 50 * ORI 40 *SIH € (373 40 =S 30 *SIH
€ (318 30 *ORHT 20 *SIH T 2 ?
(A) 12 *@iest
(B) 24 *sizx!
(C) 2-4 ¥
(D) 1-2 *SiR*!
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30. The process of learning about our own culture
which is transmitted from one generation to another
generation is known as

(A) Acculturation
(B) Enculturation
(C) Inter-culturation
(D) Assimilation

Directions: Question Nos. 31 — 35

In the following Pie Chart, distribution of candidates
who were admitted in MBA and the candidates (out of
those admitted) who passed the examination in different

institutes are given .
P
18%

Total number of candidates Total number of
admitted = 8550 candidates who passed the
examination = 5700

17% |10%

31. What percentage of candidates passed the
examination from institute T out of the total No. of
candidates admitted from the same institute?

(A) 50%
B) 52:5%
(C) 75%
(D) 80%

32. Which institute has the highest percentage of
candidates passed to the candidates admitted?
A) Q
(B) R
(S
D) T

33. What is the ratio of candidates passed to the
candidates admitted from institute P?
(A) 9:11
B) 14:17
(C) 6:11
D) 9:17

X-10

30. @ AE(STS O AGCAR A 20O ATTS! LS
SRR S SRR AR 4y e S Ssiewd feverg
Ao T wice A 92 iR Awfer @ A

(A) SHIFITSE
(B) GIoASICHIA
(C) THR-FEABIE
(D) sy

ATE @ A5G (reTt ATz o fefere fnfafie emafem
(31 (2= 35) Ted v -

&3 AB-HIG @I G0 @3, [, @, @I = ofs 2rm
€ ©f$q 9 A ATFT AN S0z ol AAfeene (e

R
17% |10%

G ©f$ 26 7y 5 AR Teldf 2e
22l = 8550 =1 72! = 5700

31. 2SO T (S T© AT BG-Tal A IR O @3
AV @F o 29T BE-TIAT @ WA O AL
AT FAE EIG FO 22

(A) 50%
(B) 52:5%
(C) 75%
(D) 80%

32, @I AfRIE *ol AE TAGER @ Zig-21al
AR A 0z I @G 63 2AfSRie (NG ©fs zew
QO-ga WA AAfcafrce e s ame

(A) Q
(B) R
< Vv
(D) T

33, 2fSVI P-4 (@, TS A B A FCH0Z I
T FRAF 7Y ©fS 2fest ©i Tl Fo ?
(A) 9:11
(B) 14:17
(C) 6:11
(D) 9:17



34. The number of candidates passed from institute
S and P together exceeds the number of candidates
admitted from institute T and R together by
(A) 228
(B) 279
(C) 399
(D) 407

35. What is the percentage of candidates passed to
the candidates admitted for institutes Q and R taken
together?

(A) 68%
(B) 80%
(C) 74%
(D) 65%

Study the diagram below and answer questions
from 36 to 38 :

35
AN \ 17
> 3 D Artists
22
g Q Players
ﬂ Doctors
30

36. How many doctors are neither artists nor players?
(A) 17
(B) 8
©) 4
(D) 22

37. How many players are neither doctors nor artists?
(A) 25
(B) 30
(C) 60
(D) 17

38. How many artists are both players and doctors?
(A) 22
(B) 8
€ 7
D) 3
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(A) 228
(B) 279
(C) 399
(D) 407
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o A (G 70 2 ©f6 2fee O A2 werel I el
279 a1 T O ©f %@

(A) 68%
(B) 80%
(C) 74%
(D) 65%
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(A) 17
(B) 8
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(D) 22

37. O TG (ACIRIG SIites 111 fHiFestme 7a 9%
e Je2
(A) 25
(B) 30
(C) 60
(D) 17

38. @5 Foo fHE @R TR AETRITE @R
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(A) 22
(B) 8
) 7
(D) 3
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39. Which of the following are the goals of higher
education in India?
(i) Access
(i) Equity
(iii) Quality and Excellence
(iv) Relevance
(v) Value based education
(vi) Compulsory and free education
(A) (), (i), (v), (vi)
B) @), (i), (iid), (iv), (v)
©) @), (1), (v)
(D) (@), (i), (iii), (iv), (v), (Vi)

40. Which one of the following universities is not
among the first three universities which were established
in 18577

(A) Calcutta
(B) Bombay
(C) Madras
(D) Delhi

41. The Red Data Book which lists the endangered
species is maintained by which of the following
organisation?

(A) UNO
(B) WHO
(C) IUCN
(D) WWF

42. Which of the following clearly mentions that
“India is a Union of States”?
(A) Article 1
(B) Preamble
(C) Article 13
(D) Govt. of India Act, 1935

43. On the monitor of a computer, a pixel is usually
a

(A) Circle
(B) Rhombus
(C) Triangle
(D) Square
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39. ST (FNSEN SRS SHHFHR 6T o5 ?
(i) TofeTers!
(ii) Ry
(iii) QORI 8 (WTg
(iv) AmfEel
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40. S5 2 @i Rt 1857 961w afsfre
2495 foals fifawieicas Siferige w7
(A) FETHI6!
(B) Gy
(C) wure
(D) fafar

41. @ ©iol 399 (Red Data Book) &= gieiifen
Siferel &geT nificg @ AT Ta 022
(A) UNO
(B) WHO
(C) IUCN
(D) WWF

42. ‘e el A WP (India is a
Union of States) — o3 Rarafera Sy @foes @3
TG0 TSI SEd TR ?

(A) SJoo=m 1

(B) &<l

(C) eyco=m 13

(D) ©IFS FRHF Bz, 1935

43. T FICOIcHa AWGCH #1r= (pixel ) 2002 JoT©
afo

(A) g€
(B) =71
(C) fagw
(D) 35fcFq



44. ‘Cirrus’ refers to
(A) alow cloud
(B) ahigh cloud
(C) arain bearing cloud

(D) a hail bearing cloud

45. Which of the following is not a feature of
NEP 2020?

(A) 10+2to5+3+3+4

(B) Multiple exit options in UG programmes
(C) Multilingual instruction and learning

(D) 3 Yr PG Programmes

Read the following passage and answer Question
Nos. 46 to 50:

The eye-ball is a little camera. Its smallness is
part of its perfection. A spheroid camera, there are,
not many anatomical organs where exact shape counts
for so much as with the eye. Light which will enter
the eye will traverse a lens placed in the right
position there, will traverse; all this making of the
eye which will see in the light is carried out in the
dark. It is a preparing in darkness for use in light.
The lens required is biconvex and to be shaped truly
enough to focus its pencil of light at the particular
distance of the sheet of photosensitive cells at the
back, the retina. The biconvex lens is made of cells,
like those of the skin but modified to be glass-clear.
It is delicately slung with accurate centring across
the path of light which will in due time, some months
later, enter the eye. In front of it a circular screen
controls, like the iris-stop of a camera or microscope,
the width of the beam and is adjustable, so that in a
poor light more is taken for the image. In microscope,
or photographic camera, this adjustment is made by
the observer working on the instrument. In the eye
this adjustment is automatic, worked by the image
itself!

The lens and the screen cut the chamber of the
eye into a front half and a back half, both filled with
clear humour, practically water, kept under a certain
pressure maintaining the eye-balls right shape. The
front chamber is completed by a layer of skin
specialized to be glass-clear and free from
blood-vessels which if present would with their
blood throw shadows within the eye. This living
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glass-clear sheet is covered with a layer of
tear-water constantly renewed. This tear-water has
the special chemical power of killing germs which
might inflame the eye. This glass-clear bit of skin
has only one of the fourfold set of skin-senses; its
touch is always ‘pain’, for it should not be touched.
The skin above and below this window grows into
movable flaps, dry outside like ordinary skin, but
moist inside so as to wipe the window clear every
minute or so from any specks of dust, by painting
over it fresh tear-water.

The light sensitive screen at the back is the key
structure. [t registers a continually changing picture.
It receives, takes and records a moving picture life-
long without change of ‘plate’, through every waking
day. It signals its shifting exposures to the brain.

This camera also focuses itself automatically,
according to the distance of the picture interesting it.
It makes its lens ‘stronger’ or ‘weaker’ as required.
This camera also turns itself in the direction of the
view required. It is moreover contrived as though
with forethought of self-preservation. Should danger
threaten, in a moment its skin shutters close,
protecting its transparent window. And the whole
structure, with its prescience and all its efficiency, is
produced by and out of specks of granular slime
arranging themselves as of their own accord in
sheets and layers, an acting seemingly on an agreed
plan. That done, and their organ complete, they
abide by what they have accomplished. They lapse
into relative quietude and change no more. It all
sounds an unskilful overstated tale which challenges
belief. But to faithful observation so it is.

46. How does light enter the eye?
(A) As apencil of light
(B) By traversing the lens of the eye
(C) As aphotosensitive cell
(D) As abiconvex lens

47. Theiris-stop of the eye adapts to the image or to
light—
(A) automatically
(B) by centring
(C) by shifting exposures
(D) by focusing
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48. The shape of the eye-ball is maintained by
(A) the retina

(B) the aqueous humour kept at a certain
pressure

(C) the biconvex lens
(D) the transparent skin in the front chamber

49. The word prescience means
(A) instinctual
(B) automatic
(C) natural
(D) foreknowledge

50. Choose the most appropriate description of the
passage from those given below:
(A) A class lecture on biology
(B) A section on the human eye from a
physiology textbook
(C) A note in a medical handbook

(D) An informal discourse on the amazing
organ of sight
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